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1) TRADE THEORY

Question No. 1/ Question ID 493 Marks: 2.00

Which electric lines connect the substation io distributors in distribution system?
fIaRor gl & faeRe! & e Tee=M &1 HH W fayd g siredt 82
(A) O Distributors

(B) O Feeders (Correct Alternative) (Chosen Option)
Wie (Correct Alternative) (Chosen Option)
(C) O Service mains

(D) O Service lines
SIEY]

Question No. 2 / Question ID 185 Marks: 2.00
Which method of speed control can give two or more fixed synchronous speeds in the 3 phase motor?

Tt 0T Bt S o A 3 Ut Hiex § &1 a1 31fde [AfAd qeaiias Tid ¢ wabdl 872
(A) O By changing the applied voltage

SR et i
(B) O By chan;:r:;:pph:;:'equency Wosg Lq b)al Itl ' Org

&nqﬁ-raw (Chosen Option)
(C) O By rotor rheostat control
fRefee Mgz grI
(D) O By changlng the number of stator poles (Correct Alternative)
[ @ =T I TGAD (Correct Alternative)

Question No. 3 / Question ID 181 Marks: 2.00

Which method is applied to control the speed of 3 phase squirrel cage induction motor using a slip ring
induction motor?

&g R TSR Hier &1 IUTGRT B3P 3 ool P ol 8- Alex B 1fd &) fFEifd w3 & forw i
fafey o Y ot 872
(A) O Changing applied frequency

3R # uRad

(B) O Cascade operation (Correct Alternative) (Chosen Option)
AT (Correct Alternative) (Chosen Option)
(C) O Changing the number of poles
[ b1 AT ST
(D) O Changing applied voltage
EENRGE

Question No. 4 / Question ID 346 Marks: 2.00
Why the collector region is physically made larger than emitter region in a transistor?
T giforer H dHadex &8 ifded T ¥ Sl & I 931 1 g1 Sl 872




(A) O It has to dissipate more heat (Correct Alternative) (Chosen Option)
'{\ﬁ 3 T BT U9R FAT gsdl % (Correct Alternative) (Chosen Option)
(B) O Asinputis given to collector
e STYC Haidex I a1 SITal §
(C) O As base collector region is reverse biased
4 S Fide & oy I%S gial §
(D) O As output is taken from collector
b 3MIeYe HadeR I forar S 8

Question No. 5/ Question ID 460 Marks: 2.00
What is the full form of UPS?
Sifére 1 uPS &1 qul &4 &1 82
(A) O Universal Power Supply
Universal Power Supply
(B) O Unregulated Power Supply
Unregulated Power Supply
(C) O Uninterrupted Power Supply (Correct Alternative) (Chosen Option)
Uninterrupted Power Supply (Correct Alternative) (Chosen Option)

(D) O Uniform Power Supply
Uniform Power Supply

Question No. 6 / Question ID 101 Marks: 2.00
How the opposite polarity of adjacent poles of a 4 pole DC motor is obtained?

4 Uit St Mex & e Yaf bt AUl saar d T Pt et 82

(A) O By increasing the number of turns in coil (Chasen Option)

gedt 2 o w1 o sV globaliti.org

(B) O By decreasing the number of turns in
el § B &l AT g

(C) O By making the current flow in opposite direction (Correct Alternative)
UYRT &1 faudia fe=m # yarfed s (Correct Alternative)

(D) O By making the current flow in same direction

YRT P! U &) f=m & yarfed e

Question No. 7 / Question ID 317 Marks: 2.00
Why negative feedback is required in amplifier circuits?
qfdhe B THRIAD HISdd & Saadhdl Fi 82
(A) O To reduce the distortion (Correct Alternative)
ﬁ?ﬁf DI PFABIH D fere (Correct Alternative)
(B) O To increase the amplification factor
U934 FRS P! d¢H & o
(C) O To increase the output current gain (Chosen Option)
3{T3cYe YRT A T gfg A & AT (Chosen Option)
(D) O To increase the output voltage gain
3T3TYC dlecs dgM & forg

Question No. 8 / Question ID 98 Marks: 2.00
Which type of winding wire is used to wind submersible pump motors?
g TR & AT IR &) GeARigd UU Hicy &I argfeT $HR- & forg IuaNT fosan S 82
(A) O PVC covered type (Correct Alternative) (Chosen Option)
PdX YPIR (Correct Alternative) (Chosen Option)




(B) O Terylene thread type
IS PR
(C) O Double cotton covered type
9 Yot haR YhR
(D) O Super enamelled type
IR TS <3y

Question No. 9 / Question ID 259 Marks: 2.00

What is the advantage of using rotating field type of an alternator?

Ui &F UHR & 3eeIex BT SUANT B BT T ATH g7

(A) O Easy to dissipate the heat during running
3re & SR THf &Y T S

(B) O Two slip rings only required irrespective of No. of phases (Correct Alternative) (Chosen
Option)
<t e f¥ 1 srmaxgear gl 8, 918 bel o "we fea-t it 8t (Correct Alternative)
(Chosen Option)

(C) O Easy to connect the load with alternator
3T & 1Y IS B B BT A §

(D) O Easy to locate the faults in the field
&3 T QY ST Ul T ST §

Question No. 10 / Question ID 15 Marks: 2.00
How the interpoles are connected in a DC generator?

St TR ¥ SexUId Y 93 Bid 67
(A) O In series with a-rmatur.e (Correct Alternativg) (Chpsen Option)
o & e e 2\ GHOD @O Fg

(B) O In series with shunt field
T[T leg & 9 YT7ar o

(C) O In parallel with shunt field
e Wits & WY AR H

(D) O In parallel with armature

MR & 1Y IR |

Question No. 11 / Question ID 366 Marks: 2.00
Which device is avoided in the panel board assembly?

Ud dis Riaa o fohy IUHRT I ST AIdT 872
(A) O Push button switch

U=T g
(B) O Isolating switch

(C) O Indicating lamp
NEKALED

(D) O Sensors (Correct Alternative) (Chosen Option)
ITR (Correct Alternative) (Chosen Option)

Question No. 12 / Question ID 385 Marks: 2.00
Which type of load is protected by ‘G’ series MCB?

P9 YR BT e’ G ' AU MCB gRT Tfard 82
(A) O Geysers
ToR




(B) O General lighting systems (Chosen Option)
HTHT YhTRT HdRYT (Chosen Option)
(C) O Ovens

(D) O Air conditioners (Correct Alternative)
TR HSIR (Correct Alternative)

Question No. 13 / Question ID 516
What is the name of the symbol as shown in the figure?

fomr & =it 71U Ucfte T AT T B2

_:}E_h. _>C_||.

(A) O Earth switch (ES) (Chosen Option)

31 f&= (ES) (Chosen Option)
(B) O Lightning Arrester (LA) (Correct Alternative)

' (LA) (Correct Alternative)
(C) O Circuit Breaker (CB)
SR (CB)

(D) O Coupling Capacitor (CC)

i TR (CC)

Marks: 2.00

Question No. 14 / Question ID 342

"y Marks: 2.00
What is the output DC voltage in\M\MWe@iéGbauuCQIr is 24 volt?

BT 34 YaeHTR | 3T3eyc SRf diees F1 8,

(A) O 9.6 Volt
9.6 Volt

(B) O 10.8 Volt (Correct Alternative)
10.8 Volt (Correct Alternative)
(C) O 12 Volt (Chosen Option)
12 Volt (Chosen Option)
(D) O 24 Volt
24 \olt

gIYC T dlecol 24 dlec 672

Question No. 15/ Question ID 71
What is the formula to calculate the back EMF in a DC motor?
DC Hiex H d& EMF @1 TT0MT 63 &1 BIHAT 1 872

(A) O
- ZNP

b~ 9 B0A

_ ZNP

° " 9B0A

() O 60 A @
E, = =7
ZNP

_B60AQ

°7 ZNP

Marks: 2.00




(C)O
Eb = w (Correct Alternative) (Chosen Option)
60 A
b= w (Correct Alternative) (Chosen Option)
60 A
(D)O NP
Et} =
Zp60A
_ NP
" Zp60A

Question No. 16 / Question ID 425
What is the name of the characteristic curve in D.C drive as shown in the figure?

fo 7 ERITT S UR D.C §12a # Sifiw&ifre asb &1 A1 F1 52
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Marks: 2.00




(A) O Speed Vs torque characteristic (Correct Alternative) (Chosen Option)
fa 99 a?n'qpf fawar (Correct Alternative) (Chosen Option)
(B) O Speed Vs armature current characteristic

T §9TH TR YRT fa=iwan

(C) O Field current Vs armature current characteristic

thicg 9qH™ S99 3THIR daHT faRydT

(D) O Torque Vs field current characteristic

JATYU! S & YRT faRIvdr

Question No. 17 / Question ID 462 Marks: 2.00
What is the full form of PWM?
PWM &1 JUf =0 &1 87
(A) O Phase Width Modulation
Phase Width Modulation

(B) O Pulse Wide Modulation
Pulse Wide Modulation
(C) O Pulse Width Modulation (Correct Alternative) (Chosen Option)
Pulse Width Modulation (Correct Alternative) (Chosen Option)
(D) O Phase Wide Modulation
Phase Wide Modulation

Question No. 18 / Question ID 159 Marks: 2.00
Which loss is determined by the no load test of 3 phase induction motor?
3 Thol SEaRM HIe & Al Al URIEMTT GRT S ¥ g1 effed &t St 82
(A) O Copper loss (Chosen Option)

s e (chosen opiof/WW . glODaliti.org

(B) O Windage loss

arg g1
(C) O Friction loss
By

(D) O Iron loss (Correct Alternative)
ETﬁ (Correct Alternative)

Question No. 19 / Question ID 246 Marks: 2.00
Which formula is used to calculate EMF/phase in a ideal alternator?
TH TG 3Heex-ex H EMF / TS B1 IT0HT & & g [ 31 &1 SUdiT foar it g2
(A) O E=222 FT

E=222 FT
(B) O o FT
E = ————— (Chosen Option)
2.22
¢ FT .
E = ———— (Chosen Option)
2.22
(C)O ET
c_ 9FT
4.44
FT
e o B E

4.44




(D) O E=4.44 FT (Correct Alternative)
E=4.44 FT (Correct Alternative)

Question No. 20 / Question ID 210 Marks: 2.00
What is the name of the test as shown in the circuit?

e § fexame 7T usteror o1 ATH o1 82

S F &

3PH. SUPPLY 415V, 50Hz
(9
&

ELNY2M3145

3PH. SUPPLY 415V, 50Hz
_é: L
®

ELNY2ME145

(A) O Open circuit test (Chosen Option)
3o gfdhe X (Chosen Option)
(B) O Polarity test

o o www.globaliti.org

(C) O No load test
DTS NS X g

(D) O Blocked rotor test (Correct Alternative)
TS e e (Correct Alternative)

Question No. 21 / Question ID 179 Marks: 2.00

What is the synchronous speed of an A.C 3 phase induction motor having 6 poles at a frequency of 50
Hertz?

50 ¢S B! 3R TR 6 Yal aTell Th A.C 3 Trol TRUT IR &1 JeddbIierd T a1 872
(A) O 1200 rpm
1200 rpm
(B) © 800 rpm
800 rpm
(C) O 1440 rpm
1440 rpm

(D) O 1000 rpm (Correct Alternative) (Chosen Option)
1000 rpm (Correct Alternative) (Chosen Option)

Question No. 22 / Question ID 263 Marks: 2.00
What is the name of the converter as shown in the circuit?

gihe H TRITT 7T HTac BT 719 R g2
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(A) O Silicon controlled rectifier (Correct Alternative) (Chosen Option)
fferera e fRyerdt (Correct Alternative) (Chosen Option)
(B) O Metal rectifier

YT feFd Rt

(C) O Rotary converter
RN FHacR

(D) O Mercury arc rectifier

3T fepdRY

Question No. 23 / Question INEE\A/\NV/ . g |O bal |t| 0 rg Marks: 2.00
Which type of DC generator is used for electroplating process?
g gferdr & o fog UpR & St SFRex &1 JUTNT faaT ST 82
(A) O Over Compounded Cumulative generator
IR HUFeS FYaifcd TR
(B) O Shunt generator (Correct Alternative) (Chosen Option)
e SFvex (Correct Alternative) (Chosen Option)
(C) O Series generator
U SR
(D) O Differential compound generator
fave® e TR
Question No. 24 / Question ID 65 Marks: 2.00

Which formula is used to calculate the speed of DC motor?

DC HIex &1 TIfd Bt TUHT S & g T 31 &1 ST fosan i g2
MO | _ Epe
120

(B) O . .
(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)




C) O o

(D) O N Eb.rp

Question No. 25 / Question ID 316 Marks: 2.00
What is the type of function in the transistor circuit as shown in the circuit?

TifoRex Tfdhe # tawM &1 UbR 31 § o 3 Ifdhe & fozamar mar g2

’@wp ’@wp
R e
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(A) O Modulation (Chosen Option)

II'\@TQFT (Chosen Option)

(B) O Amplification

at www.globaliti.org

(C) O Oscillation

(D) O Switching (Correct Alternative)
(Correct Alternative)

Question No. 26 / Question ID 438 Marks: 2.00
What is the main use of A.C drive?
A.C gIgd &l BT JTINT T %’?

(A) O Interlocking system in industries
(B) O High starting torque
7 Tl

(C) O Control stepless speed in motors (Correct Alternative) (Chosen Option)
H fe=or TI%H Tt (Correct Alternative) (Chosen Option)
(D) O Group drive motors

g g18d Hicd

Question No. 27 / Question ID 78 Marks: 2.00
Which type of D.C motor is used for constant speed drives?
{5 YR 1 D.C Hiex H1 ITART FRR 1AV S139 HRA & forg fasa oirar g2
A) O leferentlal Iong shunt compound motor
A= YT HUSS IR
(B) O Differential short shunt compound motor




(C) O DC shunt motor (Correct Alternative) (Chosen Option)
St zie Hiex (Correct Alternative) (Chosen Option)
(D) O DC series motor

guft AR
Question No. 28 / Question ID 164 Marks: 2.00
What is the speed control method of 3 phase induction motor?
3 Hl UROT Hiex i i fa=or fafy 3 g2
3 PHASE 3 PHASE
SUPPLY SUPPLY
SLIP- Rlilﬁs SLIP- HIiIGS
NOTOR A MOTOR B :{] MOTOR A MOTOR B :{]

LT

[TETET LR

1L

[TETEr LR

(A) O Injecting emf in rotor circuit method

Tfde fafyr o STauw Soraem

(B) O Rotor rheostat control method

AR Refide gz fafy
(C) O Changing applied voltage method

dlees Sear fafd
(D) O Cascade operation method (Correct

e fafer (C&WWWag

B

ftieorg

sen Option)

Question No. 29 / Question ID 242

What is the advantages of stepper motor?

XWR AeR & BTG 1 57
(A) O Resonance occurs

3G IUH BIdT §
(B) O Rotor has no teeth

AR A PIs aid Tel &

(C) O Can run at very high speed (Chosen Option)
ggd GERIGES) zﬁg bl g (Chosen Option)

(D) O Can run at very low speed (Correct Alternative)
qdgd ®H fa A I GHdr % (Correct Alternative)

Marks: 2.00

Question No. 30 / Question ID 355
What is the name of the symbol as shown in the figure?

for 7 fEaT SR Tieltes T 1 1 82

Marks: 2.00

KO—“—GA

Ko—“—m

(A) O Zener diode (Correct Alternative) (Chosen Option)

sHrS (Correct Alternative) (Chosen Option)




(B) O Photo conductive diode
BIc! Yaigs g Sle
(C) O Light emitting diode
UHT IO SIS
(D) O Diode

Question No. 31 / Question ID 364 Marks: 2.00
Which supply indicates by the colour of conductor exhibited on Red, Blue and Black?
Y8, & 3R &P R Hede [hU T HEaex & W14 B AT 3Tf ST et 67
(A) O Apparatus AC system 3 phase (Chosen Option)

3 Thyl TY! e d Iuarur (Chosen Option)
(B) O Supply DC 3 wire system (Correct Alternative)
3 AR SRt arrgﬁuvn?ﬂ (Correct Alternative)
(C) O Supply AC system 3 phase
3 Tyl
(D) O Single phase AC system
Thd ol

Question No. 32 / Question ID 37 Marks: 2.00
What is the name of the compound generator, if the shunt field is connected in parallel with armature?
HUNSS SRR BT A 1 g, TS e Wies AR & 1Y FHHIR H S[ST §31 872
(A) O Short shunt compound generator (Correct Alternative) (Chosen Option)

¢ Ve HUES S vex (Correct Alternative) (Chosen Option)

B Long shunt compound ge t -
PO e wmss wree WWW. globaliti.org
(C) O Shunt generator
Y[ TR
(D) O Separately excited generator
3TV IR SRR

Question No. 33 / Question ID 382 Marks: 2.00
Which device is controling the operations in the sequential control systems?
313ep e gz yonferal o ufkared &) 19 I Iudr FHfd R 82
(A) O Timer (Correct Alternative) (Chosen Option)
CIgHR (Correct Alternative) (Chosen Option)
(B) O Control transformer
fd=0r eI
(C) O Relays
et

(D) O Contactor
BEIECY

Question No. 34 / Question ID 435 Marks: 2.00
What is the purpose of JOG key in control panel of D.C drive?
D.C §12d & AU U H JOG Foll HT I&T F1 872
(A) O Restart the motor
e DI TRRY H<




(B) O Stop the motor
HIeR §ig BRI
(C) O Inching operation (Correct Alternative) (Chosen Option)
T 3T (Correct Alternative) (Chosen Option)
(D) O Reverse the direction of motor

Tex & femn Iae &

Question No. 35/ Question ID 231 Marks: 2.00
Which single phase motor has squirrel cage rotor?
T T d TRUT Hiex # f&pd P MeR BT 87
(A) O Compensated repulsion motor
3Tl UfaHyur Hiex

(B) O Universal motor

(C) O Repulsion motor (Chosen Option)
e (Chosen Option)
(D) O Split phase motor (Correct Alternative)
Y HleY (Correct Alternative)

Question No. 36 / Question ID 149 Marks: 2.00
What is the name of the starter symbol as shown in the figure?

o fop fomr 7 fezaman T 8, wIek Udie &1 A1 &7 872

A | WWW.g obaliti. rg,

(A) O Direct on-line starter
Te 3H 18 €I

(B) O Autotransformer starter
SHSICIHIER WIER

(C) O Star delta starter (Correct Alternative) (Chosen Option)
TR ST WIex (Correct Alternative) (Chosen Option)

(D) O Rheostatic starter

TERfed WIR

Question No. 37 / Question ID 287 Marks: 2.00
What is the name of instrument used to measure the insulation resistance of an alternator?
3fTERACR P SYARM UfRIY BT AT & fore IuANT fohT ST aTat SUHRUT &7 A1 T 57
(A) O Multimeter

HecHIeY
(B) O Shunt type ohmmeter
e YhR
(C) O Megger (Correct Alternative) (Chosen Option)
TR (Correct Alternative) (Chosen Option)
(D) O Series type ohmmeter

G UhR HHICR




Question No. 38 / Question ID 58
What is the formula for the efficiency of a D.C generator?

D.C SFIRCX B! G&fdl BT Bigal 1 57
(A) O Output

Input —Losses
Output
Input —Losses

B) O Input
Qutput
Input
Output
€O Output

Qutput +Losses

(Chosen Option)

(Chosen Option)

(Correct Alternative)

Output
Output +Losses

(Correct Alternative)

(D) O nput+_osses
Input

nput+_osses

mpu www.globaliti.org

Marks: 2.00

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 532
How the years is denoted in simple interest calculations?
TERUT TS § A B B SR STl 72
(A) O n (Correct Alternative) (Chosen Option)
n (Correct Alternative) (Chosen Option)

(B)O P
P

C)Or

r

(D) O :

Marks: 2.00

Question No. 2 / Question ID 523

What is the expanded form of (a+b)2?

(a+b)2 &1 fawariRd U o1 82

(A) O -a2-2ab + b2
-a® - 2ab + b?

(B) O a?-2ab +b?
a’ - 2ab + b?

(C) O a? + 2ab + b? (Correct Alternative) (Chosen Option)
aZ + 2ab + b? (Correct Alternative) (Chosen Option)

Marks: 2.00




(D) O a?+2ab-b?
a2 + 2ab - b2

Question No. 3 / Question ID 529 Marks: 2.00
What is the expanded form of S.P?
g, (S.P) %1 fawgd U F1 82
(A) O Special Price
Special Price
(B) O Selected Price
Selected Price

(C) O Selling Price (Correct Alternative) (Chosen Option)
Selling Price (Correct Alternative) (Chosen Option)
(D) O Super Price
Super Price

Question No. 4 / Question ID 525 Marks: 2.00
What is the value of a x a% x a3 x a% ?
a x a2 xa3xa4$TIfFIEPIH%?
(A) O a'? (Correct Alternative) (Chosen Option)
10 (Correct Alternative) (Chosen Option)

(B) O

00 www.globaliti.org

a
a
a
C)O a
a
a
a

Question No. 5/ Question ID 526 Marks: 2.00
V\ihich type of stress?
HI-T7 Ufded 82




1N
= n
L
N a
1
= n
A /\\\\\\\\\\*
:

(A) O Tensile stress
GEIC

(B) O Compre;%\%stress WWW. g |O bal |t| .0 rg

(C) O Torsional stress

(D) O Shear stress (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Question No. 6 / Question ID 528 Marks: 2.00
Which symbol is used to express change in length?
TS § URad- &I fohd Yobd I gRfaT oiTdT 87
(A) O :

B)O e

e
(C) O dI (Correct Alternative) (Chosen Option)
dl (Correct Alternative) (Chosen Option)

D)o L
L

3) ENGINEERING DRAWING

Question No. 1 / Question ID 549 Marks: 2.00
Identify the symbol used for microphone (general) in electrical and electronic circuits.

gdfaedmd 3R Iaaci-ed Afdhe H AZHIBH (AH) & g ITanT fhe 9 are Udie &1 uga &1




L AO

(B) O

(€)O

ww.globaliti.org




(D) O

(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

Question No. 2 / Question ID 538
What is the material of line insulator?
T2 3Ycie” Pt A 1 82

(A) O Porcelain clay (Correct Alternative) (Chosen Option)

¥ (Correct Alternative) (Chosen Option)

(B) ©O Aluminium

(C) O Rubber

Rds

0)O Copper www.globaliti.org

SIS

Marks: 2.00

Question No. 3 / Question ID 550
Identify the symbol for direct and alternating current.

Y& 3R TATdc e & ot Ui o1 uga &
(A) O

Marks: 2.00




(C)O
(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

(D) O

Question No. 4 / Question ID 535
Which device is used to start and stop a motor?

HIeR B! A1 3R s B & Y [ IuesRur &1 IuanT forar Sran g7
(A) O Slipring
ey

(B) O Stator
TR
(C) O Starter (Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)
(D) O Rotor

Marks: 2.00

Question No. 5/ Question IDVUJWW . g I O Da I Itl . O rg

WhICh is nose pllers’?

(A) O

(B) O

(Correct Alternative) (Chosen Option)

. (Correct Alternative) (Chosen Option)

Marks: 2.00




(€)O

(D) O

Question No. 6 / Question ID 540 Marks: 2.00
What is the name of the symbol?
Udic T A5 R g2




(A) O Condenser microphone (Correct Alternative) (Chosen Option)
FSR ﬂ'l's'g'cﬁqﬁ:[ (Correct Alternative) (Chosen Option)
(B) O Loud speaker

oS i www.globaliti.org
(C) O Dynamic microphone

SIS HIShIBI
(D) O Microphone

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 667

Which of the following is a green practice?

frofifad & 9 o a1 9= didea g2

(A) O Grow plants wherever possible (Correct Alternative) (Chosen Option)
g Wt Iva 33[ e I (Correct Alternative) (Chosen Option)

(B) O Not separating recycle waste
NI daR ol 3T Tl Bl

(C) O Using high power alr condltloners
E'I_sf qTeR aTdl Qg HSIR BT STINT BRI

(D) O Not using plastic containers

IREPH & AR BT IUANT 8] BT

Marks: 2.00

Question No. 2 / Question ID 766
What are some people related problems in a workplace?
SRR W AN Tafeid & TS o1 82
(A) O More staff in the workplace
BRIV W YD TIH

Marks: 2.00




(B) O More experienced works

AP Sy BTl

(C) O Workers do not communicate while facing the problem (Correct Alternative) (Chosen

Option)

UTeaHd ) T HId JHY HHAR! HRIfde 78] HId 8 (Correct Alternative) (Chosen Option)

(D) O More qualified workers
3 g

Question No. 3 / Question ID 717

The reason to reply to comments on your YouTube videos is

3TI% YouTube ST TR HATYH BT ITR & BT HRUT g

(A) O to get more videos
31t gt o e & fog

(B) O to get more friends
3P 1 U1 e o ey

(C) O so viewers feel connected (Correct Alternative) (Chosen Option)
orag exfe v[STd Hegd Gy (Correct Alternative) (Chosen Option)

(D) O to use the internet

ge3e BT ITINT I & T

Marks: 2.00

Question No. 4 / Question ID 674

Marks: 2.00

In an email, where will you add the recipient email address whom you want to send the copy of an email?

ot SR & 31U I Ul T S UdT Sl Siadl o1 3T SA B HIUt N1 IM8d 872

(A) O Subject
Subject r

®) O Bec www.globaliti.org
Bcc

(C) O To (Chosen Option)
To (Chosen Option)

(D) O CC (Correct Alternative)
CC (Correct Alternative)

Question No. 5/ Question ID 564
Magnificent, sharp, lengthy, bright, - are examples of
Afhithdre, =T, ori, STge, - & IaTeRT §
(A) O nouns
134
(B) O action words (Chosen Option)
TaRM d89 (Chosen Option)
(C) O pronouns

(D) O describing words (Correct Alternative)
?:IZ{W (Correct Alternative)

Marks: 2.00

Question No. 6 / Question ID 609
If a co-worker asks for a support with a task, proper way of responding is
e BIE Tepwl ) B 3 FoT GeTa FiTaT 2, A Ui ar 33 o1 I a¥iebT

(A) O send a formal request via email.

& WY Y U NG SRy Revee Mo

Marks: 2.00

g




(B) O ask, you don't even know this much?
T, I sa-1 Yt =78l yar?
(C) O sure, | can help. What do you need? (Correct Alternative) (Chosen Option)
WX, § UGG B ghdl § | 3TUD! {5 e P WRevd 872 (Correct Alternative) (Chosen
Option)
(D) O iam too busy right now.
T T I9g 9gd I ¢

Question No. 7 / Question ID 782 Marks: 2.00
Believing that you have the capability to achieve your dreams is called
Tg Ay 1 s Mo 3o oAl Y BRI R Bt & g, HEAdl §
(A) O Self-awareness
X SR chdl
(B) O Independent decision making (Chosen Option)
o fofa o (Chosen Option)
(C) O Self belief (Correct Alternative)
3 fayr (Correct Alternative)
(D) O Girit
e

Question No. 8 / Question ID 756 Marks: 2.00
While working with a team, if we notice a co-worker struggling with their workload, what should we do?

%@H%Wﬂ BT HRd TG, Tfe §H fordi TEHH! B! 31U B & §1g I S21d §U SWd ©, < 89 o1 HReAT
?

(A) O Ignore their struggles and focus on your @wn work. y= ¢ =
e s e o7 1 3 VAV GHO DA b -1 g

(B) O Laugh at their |nab|I|ty to manage thelr workload.
HRIUR B TS B H SAD! RS R g1 18T
(C) O Report their struggles to the supervisor.
JURATZOR Bl I FgH! &1 RUIE HA1 AT
(D) O Offer to help them with their tasks. (Correct Alternative) (Chosen Option)
F 3% BTl ° b R ﬁIT{ 3THR HAT T:IT%T{ (Correct Alternative) (Chosen Option)

Question No. 9 / Question ID 657 Marks: 2.00
How can users access the Skill India Digital Platform?
IoR f&par $fear fEfved @emid db $9 uga Jobd 872
(A) O On computers, tablets, and phones (Correct Alternative) (Chosen Option)
W, egac 3R W '\ET (Correct Alternative) (Chosen Option)
(B) O Only through offline training centers
DHad HBeTs URIE Bl & HIHH J
(C) O Only on a specific type of device
&Hdd Toh AP gpR o fgarsa ¥
(D) O Through a specialized learning app
T fafRry fRraror tu & mrem

Question No. 10 / Question ID 658 Marks: 2.00
Which section of the SklII Indla Dlgltal Platform helps users find physical tralnlng centers nearby’?

%%h_cfs'%m FSfoTed WewiH &1 S AT Vo= JoR P HN-U & fhiorwa ¢ Jex Tiom # Aee dxal
7




(A) O Job Exchange
Sts :
(B) © Recommendations
RpHSzH
(C) O Centres (Correct Alternative) (Chosen Option)
[@¥ (Correct Alternative) (Chosen Option)
(D) O Skill courses

Question No. 11 / Question ID 682 Marks: 2.00
The conversion of computer data from one format to another is called

SR ST Bl TP Bic I g Bie & gaer HEdAmdl §
(A) O %%tji?g

(B) © Data conversion (Correct Alternative) (Chosen Option)
ST H=axiH (Correct Alternative) (Chosen Option)

(C) O cutting
=l

(D) O copying
BIUIST

Question No. 12 / Question ID 785 Marks: 2.00
Which one is a key skill to be used for a Market survey?

AIdhe d & fore IUANT fohdT S aTal Ueh T IR B 1 82

W © o mosese GRAARFG lobaliti.org

(B) O Appearance
3UIERY

(C) O Communication (Correct Alternative)
(Correct Alternative)
(D) O MBA Degree
MBA f&it

Question No. 13 / Question ID 791 Marks: 2.00
If you want to give people relevant information about you and your business in an easy way, you will

i 3T AT T 3T 3R (U T & IR T S RIp I U SHHRI <1 I18d 8, df 31
|

(A) O verbally tell them when they ask
9 3 U o) Aif9® 0 ¥ 35 a1y
(B) O ask them to search on Google
3T Google Wﬂémﬁﬁ
(C) O give them your business card (Correct Alternative) (Chosen Option)
3’% 3T foog $18 % (Correct Alternative) (Chosen Option)
(D) O write on a piece of paper and give
TP BTN & ThHS R g T ¢

Question No. 14 / Question ID 629 Marks: 2.00
Separating paper and plastic from bio waste before throwing them away is

g BN P b I U BTSSR TR DI 3T HIAT g




(A) O profession

(B) O innovation
ESICRE]
(C) O green mindset (Correct Alternative) (Chosen Option)
' (Correct Alternative) (Chosen Option)
(D) O creativity

Question No. 15/ Question ID 619 Marks: 2.00
If a teammate is struggling to complete their assigned task, what should you do?
e A9 o1 His Arft 3o e S I1 v & Tud o X818, af SIS o1 H=1 AMT?
(A) O Complain to the superior about their lack of contribution
I ANTGH DI HHl & IR T FUIRIR Y el BT A1igY
(B) O Ignore their struggle and focus on your own tasks

I TIY DI ToRSAGIS IRD 3R 30 BT R G digd BT ANgY
(C) O Offer to help and support them to complete their task (Correct Alternative) (Chosen Option)

3P RS Bl T AP ﬁ‘l’[{ 3% o 3R N SATHT BT EIT%({ (Correct Alternative)
(Chosen Option)

(D) O Ciriticize them for not being efficient
T8 & DR 3BT AT B dAlgy

Question No. 16 / Question ID 732 Marks: 2.00
What s%o%gg%?_l/[o%iﬁlgﬁjguring an interview?
YA SIKSKCEEI ? gt
(A) O Answer clearly and IoudW\(;VW . g |O bal Itl . O rg
WP TG AR A IW S
(B) O Look somewhere and answer (Correct Alternative)
el AR T RIS (Correct Alternative)
(C) O Maintain eye contact
31 U HUdh TR
(D) O Greet the employer with a smile (Chosen Option)
TR ] TRPRIEC & 1Y FIE &Y (Chosen Option)

Question No. 17 / Question ID 704 Marks: 2.00
Why is it good to think about what you learn?
39 S ¥Rad § 39 R AR &1 i 3res1 82
(A) O It helps to remember and understand better. (Correct Alternative) (Chosen Option)
Y I1¢ @A 3R IgdR A | Aee fidd 1 (Correct Alternative) (Chosen Option)
(B) O All are doing
T R E T
(C) O It's a good time pass
Ig 351 CI3H UNI §
(D) O It improves handwriting.

Y forarae # gUR giar g |

Question No. 18 / Question ID 624 Marks: 2.00
Which among the following is self-employment idea?

fgfifad # 9 &9 91 e WIWR f9UR 82




(A) O Freelance tailoring Service
I o |fda

(B) O Boutique owner
(C) O Home catering service

(D) O All the options (Correct Alternative) (Chosen Option)
It fawea (Correct Alternative) (Chosen Option)

Question No. 19 / Question ID 762 Marks: 2.00
While working, it is important to share our ideas with others because

HTH DA GHT 3T TEFSTT Y G P 1Y IR BT Agaqui e i
(A) O to make others feel included.
| 1 A HEYH B o fog
(B) O to impress others.
IR B JHTId B & forg
(C) O talking can help and make ideas better. (Correct Alternative) (Chosen Option)

¥ Hec e Il 3 3R fIaRl &) dgd= 99111 ST Ihdl 81 (Correct Alternative)
(Chosen Option)

(D) O to show off your knowledge.
30 I BT UGR B & g

Question No. 20 / Question ID 715 Marks: 2.00
While applying for a position as fitter, which of the following email subject lines would be the most
suitable? g
e & v 3 g ot 3 <A Wiiier@ PO D@ @G v swgw vt
(A) O Urgent Attention Needed
T S 7 BT AT HdT &

(B) O Application for Fitter Position - [Your Name] (Correct Alternative) (Chosen Option)
flher U %’ﬁ 3TdeH - [SITYRT ATH] (Correct Alternative) (Chosen Option)

(C) O Fitter Job needed
"fhex S B oRexd ©

(D) O Applying for a new Job

B F T e PR W §

Question No. 21 / Question ID 748 Marks: 2.00
A person always trying out new ways to reuse the waste materials called as

Tep farT MUY Tarl &) O: SUTIT B3 & oY AR U b SMOHAIRGAT S ol Pgl ol g
(A) O Idea Person (Correct Alternative) (Chosen Option)
&n'{%m i (Correct Alternative) (Chosen Option)
(B) O Planner
@R (AT )
(C) O Peacekeeper
T ImR (ifcRe®)
(D) O Doer
SR ()

Question No. 22 / Question ID 605 Marks: 2.00
What is "informal communication"?

"ZIBIHA HRIBIA" FT 82




(A) O All verbal communication
Tt gefd R
(B) O Official communication following a set of rules
ol & T I &1 UTa Hrd §U AR HRgAbRH
(C) O Talking at official meetings (Chosen Option)
T RId Hifd™ H 919 ST (Chosen Option)
(D) O Casual conversations outside of official work arrangements (Correct Alternative)

ST IRIae g sReHe A 98T FYSA H-aUR (Correct Alternative)

Question No. 23 / Question ID 568 Marks: 2.00
While addressing your boss, you should be
30 1 DI FEEIAT DR TG YD BT 13T |
(A) O Formal (Correct Alternative) (Chosen Option)
T (Correct Alternative) (Chosen Option)
(B) O Expressive

(C) O Impolite
QUIRC
(D) O Informal

Question No. 24 / Question ID 566 Marks: 2.00
Comma, full stop, question mark are examples of
DI, P LU, H&d HID & ISR ¢ |
(A) O punctuation mark (Co | tj T T
ﬁaq%smnﬁwmrectm y@ﬂOballtl-Org
(B) O design

(C) O next paragraph (Chosen Option)
(Chosen Option)
(D) O formal communication

Question No. 25 / Question ID 773 Marks: 2.00
While purchasing new chairs for students using design thinking, what is the first step to think?
f&oie R &1 IUTNT Fx aral B & AT 93 HRET Wiied IHT Wra- dTel Ugdl WU &1 82
(A) O Think what is student's requirement in a chair (Correct Alternative)

@ﬁﬂ'{ W% ﬁ'l'q fen<t &t 71 smawgwar % (Correct Alternative)
(B) O Plan how to make the chair

Sl HA T A1 B, 39T W S

(C) O Choose the colour of the chair
ERUGIRURCEE |
(D) O Test different chair designs (Chosen Option)
fafirs HRIAT & fEHIEA BT <% HRAT (Chosen Option)




